point

Electric Patio Heater

POPH20WR
User Manual




-point

A

Thank you for purchasing your new POINT Electric Patio Heater.

These operating instructions will help you use it properly and safely.

We recommend that you spend some time reading this instruction manual
in order that you fully understand all the operational features it offers.
Read all the safety instructions carefully before use and keep this
instruction manual for future reference.

[NoJ

Takk for at du kjgpte din nye elektriske terassevarmeren av merket POINT.

Denne bruksanvisningen vil hjelpe deg med a bruke den pa en trygg og riktig mate.
Vi anbefaler at du tar deg tid til a lese gjennom hele bruksanvisningen for a bli
fortrolig med alle funksjonene som tilbys.

Les alle sikkerhetsanvisningene ngye far bruk, og oppbevar bruksanvisningen for
fremtidig referanse.

Kiitos, kun valitsit uuden POINT-sdhkaisen terassilammittimen.

Nama kdyttdohjeet opastavat sinua kdyttdmadan laitetta oikein ja turvallisesti.
On suositeltavaa kayttaa aikaa taman kayttooppaan lukemiseen, jotta ymmarrat
tdysin, mitd toiminnallisia ominaisuuksia tuote tarjoaa.

Lue kaikki turvallisuusohjeet huolellisesti ennen laitteen kayttoa ja sdilyta
kayttdopas myohempdd kayttod varten.

D

Tak for kgbet af dit nye Elektriske fra POINT.

Disse brugervejledninger hjzlper dig med at bruge dette apparat rigtigt og sikkert.
Vi anbefaler, at du lzeser denne brugervejledning, sa du far en fuld forstaelse af
hvordan alle funktionerne virker.

Laes sikkerhedsforskrifterne grundigt inden brug, og gem denne brugervejledning
til senere brug.

Tack for att du kopte en ny POINT Elektrisk terrassvarmare.

Denna bruksanvisning hjdlper dig att anvdnda den pa ett sakert och korrekt sdtt.
Vi rekommenderar att du tar dig tid att Idsa igenom denna bruksanvisning for att
till fullo forsta alla driftfunktioner som den erbjuder.

Lds noga igenom alla sakerhetsinstruktioner fore anvdndning och spara
bruksanvisningen for framtida bruk.



Instruction Manual - English
Bruksanvisning - Norsk
Kayttbopas - Suomi
Brugervejledning - Dansk

Bruksanvisning - Svenska

4-17
18-31
32-45
46 - 59
60-73




Safety Warnings

Follow all the safety precautions listed below for safety and to reduce
the risk of injury or electrical shock.

- Read this Instruction Manual carefully to maximize this appliance’s
performance and keep for future reference.

- Always ensure that your power supply voltage matches this appliance’s
rating label.

- Never leave the appliance unattended while in operation. Always
unplug the appliance when not in use.

- This appliance is hot when in use. To avoid burns, do not let bare skin
touch hot surfaces.

- Caution: Some parts of this appliance can become very hot and cause
burns. Particular attention has to be given when children and vulnerable
people are present.

- Always use the handle when moving the appliance (if available) or hold
on the sides if not available (make sure the appliance is turned off).
Keep combustible materials such as furniture, pillows, bedding, papers,
clothes and curtains at least 1m from the appliance.

- The appliance must be placed at a minimum height of 0.5m from the
ceiling, roof, a minimum distance of 0.5m from both sides walls and the

appliance head must be at a minimum height of 1.8m from the floor.

- Warning: In order to avoid overheating do not cover the appliance.

- This appliance must be securely placed on a horizontal and flat surface.



- This appliance can be used by children aged from 8 years and above and
persons with reduced physical, sensory or mental capabilities or lack of
experience and knowledge if they have been given supervision or
instruction concerning use of the appliance in a safe way and
understand the hazards involved.

- Children shall not play with the appliance. Cleaning and user
maintenance shall not be made by children without supervision.

- Do not use the appliance if there are any visible signs of damage to the
appliance.

- Do not attempt to repair or adjust any electrical or mechanical
functions on this appliance. The appliance does not contain any user

serviceable parts. Only a qualified electrician should perform servicing
or repairs.

- If the mains cable is damaged it must be replaced by the manufacturer,
its service agent, or similarly qualified persons in order to avoid a
hazard.

- Do not handle the element with bare hands. If it is inadvertently
touched, remove finger marks with a soft cloth and methylated spirits
or alcohol, otherwise the marks will burn into the element causing
premature appliance failure.

- Do not replace or attempt to replace the element in this appliance.
- This appliance is suitable for outdoor use.
- Do not operate the appliance in direct sunlight, near heat sources,

humid environments or in places near water or other liquids such as a
bathroom, shower or swimming pool.



- This appliance must not be left outdoors exposed to the elements for
long periods of time.

- Do not operate with wet hands or spill water or other liquids on to the
appliance the mains cable or plug.

- Do not run the power cable under carpeting. Do not cover the power
cable with rugs, runner, or similar coverings. Arrange the power cable
away from foot traffic and where it will not be tripped over.

- Do not wind the power cable around the appliance.

- Do not insert or allow foreign objects to enter any ventilation or
opening on the appliance, as this may result in electric shock, fire, or
damage to the appliance.

- To prevent a possible fire, do not block the air vents.

- Do not use the appliance in areas where petrol, paints or other
flammable substances are used or stored.

- Always position the appliance with the mains plug in an accessible
position and avoid the use of an extension cables as they may overheat
and create a potential fire risk.

- Always ensure the appliance is plugged into a suitable socket, one that
is tested for outdoor use.

- To disconnect appliance, turn controls to OFF, then remove the plug
from the power socket. Do not unplug by pulling on the power cable.

- Always unplug the appliance and ensure the appliance is completely
cold before moving, cleaning or storing.



- This appliances intended for domestic use only and should not be used
commercially for contract purposes. Any alternative use, not
recommended by the manufacturer, may result in fire, electric shock, or
injury to persons.

- The use of attachments on the appliance is not recommended.

- Warning: This appliances not equipped with a device to control the
room temperature. Do not use this appliance in small rooms when
occupied by persons not capable of leaving a room on their own, unless
constant supervision is provided.

- CAUTION: In order to avoid a hazard due to inadvertent resetting of the
thermal cut-out, this appliance must not be supplied through an

external switching device, such as a timer or connected to a circuit that
is regularly switched on and off.

- Check exterior walls for areas of damage before installing the
appliance.

- Check exterior walls for communication and electrical cables and
pipelines. Should any service lines be present in the immediate vicinity
do not install your appliance, find an alternative location to install this
appliance.



PRODUCT OVERVIEW

Power switch
Heater Mesh
Power Cable
Remote Control

Wall Mounted Bracket
Control Panel

Heating Lamp (inside)
Universal Bracket

omn»
I o w



INSTALLATION

For best results ensure that the installation is done by a qualified
electrician in accordance with the following instructions and take full
account of current regulations. When using the heater, follow all the

instructions carefully and keep this instruction manual for future
reference.

® | oosen the two M6*10 screws using the ‘L’ hexagonal wrench to
change to the best angle of heating. Then retighten them.

M6X10 Screw

® \When fixing the heater to a wall, ensure the hinges are on the
underside so that the lid comes down in the open position.

® Minimum required distances:
a) 500mm from the side wall
b) 500mm from the ceiling
¢) Installation height above 1.8m

Ceiling

50cm I

=T

50cm

Wall

180cm

Floor



The heater must be fixed to a wall with the bracket supplied to allow
adequate ventilation.

Never fix or place the heater near flammable or combustible
materials.

Generally heaters must be placed at a safe distance (clear space) of at
least 2.0m from combustible materials and glass walls. If installed in
workshops or garages where inflammable or combustible paints are
used, the heaters must be installed at a distance of at least 4.0m
from the source of danger.

If the heaters are placed in areas where spray painting of any
description is taking place, they should not be used during painting
operations.

Never use the heater in particularly dusty and explosive areas.

It is important to ensure that the electricity supply is of adequate
capacity for the electrical load required by the heater.

The heater must be earthed.

WALL INSTALLATION

Accessories

./\'

e |
v Cu N o
SO |
f\fffv. ¢

Ref Name (814

Explosive bolt M6%*50

M6 spanner

‘L’ hexagonal wrench

Hlw (N |-

RN D>

Remote control

10



Complete!

INSTALLING ONTO A TUBE

Product support from the ceiling should be no less than 10cm.
Distance from the wall should be not less than 10cm.

Keep far from inflammable, explosive items.

Do not cover the heater with any items.

Make sure that the irradiated distance is not less than 50cm.
Children are prohibited from using without supervision.

No direct touch to the heating zone and its outer shell;

r_:_ﬁﬁ

at least
10 cm

11




Step 1:Insert 4 explosive bolt M6*50Q into the wall.

Wall P8mm

Step 2:Take off the nuts,spring lock washers and the plain washers from
the four explosive bolts. Keep them for the next step.

W

Step3: Install the heater on the wall, then replace the spring lock
washers, plain washers and nuts then tighten using the spanner.

b

12



ASSEMBLING PROCESS TO TUBE

® Accessories

Ref Name Qty
1 | M6*12 screws 4
2 | Universal bracket 1
3 | M6 nuts 4
4 | Non-slip mat 1
5 | M6*50 screws 2
6 | M8%*25 Fixation Screw 1

Step 1: Fix the universal bracket to heater as below

M6*12 screws

1
Universal bracket | ? :
2 peilt
N
| I Il
‘ bl
I3

M6 nuts
3

Heater

Step 2: Fix the universal bracket to tube as below.

4 Non-slip mat

M6*50 screws

13



Complete!

OPERATION

WANRING: The heater must be properly installed before it is used . Plug
the heater into a grounded 220-240V~ 50Hz power socket.

® Press the power switch on the heater after the plug has been
connected.

[ON] position means stand by mode

[0OFF] position means turn off the power of the Heater.

The control panel:

14



Remote control:

A
Q

When the switch is on the [ONJ] position, press the remote control,

the heater will be on 2000W power. Press the remote control again,
the heater will be in standby mode.

When the switch isonthe [ONJ) position, press the @ on the

panel control, the heater will be on 2000W power. Press it again, the
heater will be in standby mode.

Although the heater is waterproof, do not use when raining or in wet
conditions.

Never connect the power cable to the electrical supply, when the
heater is not in use.

CARE AND MAINTENANCE

When disconnected from the electrical supply, clean the outside of
the heater with a damp cloth. Never use corrosive or solvent cleaners
or immerse in water.

Any maintenance or repairs including replacing the halogen tube
should only be carried out by a qualified electrician or by a
recommended service center.

STORAGE

If the heater will not be used for a long period of time, store it in a cool,
dry location when not in use. To prevent dust and dirt build-up, use the
original packaging to repack the heater.

15



TROUBLE SHOQTING

If the heater will not operate,check the following before seeking repair

service:

® Check to see if the power cable is plugged into an electrical socket, if
not plugitin.

® (heck to see if the electricity to the main fuse is working.

® Make certain that the power switches are turned on. If not, choose a
setting.

PRODUCT SPECIFICATION

Model: POPH20WR
Rated voltage: 220-240V ~ 50Hz
Power consumption:2000W Max

[ J
®
[ J
® [nsulation class |

X

=
This symbol on the product or in the instructions means that your
electrical and electronic equipment should be disposed at the end of its
life separately from your household waste. There are separate collection
systems for recycling in the EU. For more information please contact the
local authority or your retailer where you purchased the product.

16



Imported and Exclusively marketed by:
Power International AS,
PO Box 523, N-1471 Lgrenskog, Norway

Power Norge:
https://www.power.no/kundeservice/
T:21 004000

Expert Danmark:
https://www.expert.dk/kundeservice/
T:707017 07

Power Danmark:
https://www.power.dk/kundeservice/
T:70338080

Punkt 1 Danmark:
https://www.punktl.dk/kundeservice/
T:70701707

Expert Finland:
https://www.expert.fi/tuki/asiakaspalvelu/
T:020 7100670

Power Finland:
https://www.power.fi/tuki/asiakaspalvelu/
T:0305 0305

Power Sverige:

https://www.power.se/kundservice/
T:08 517 66 000

17




Sikkerhetsadvarsler

Folg alle forholdsreglene som er oppfgrt nedenfor for a redusere risikoen
for personskade eller elektrisk stgt.

- Les denne bruksanvisningen ngye for a maksimere ytelsen til apparatet,
og behold den for fremtidig referanse.

- Sgrg alltid for at spenningen samsvarer med merkingen til apparatet.

- Apparatet ma ikke sta uten tilsyn mens det er i bruk. Trekk alltid
stgpslet ut av stikkontakten nar apparatet ikke brukes.

- Ovnen blir varm nar den er i bruk. For a unnga brannskader ma du ikke
la bar hud bergre varme overflater.

- Forsiktig: Noen deler av produktet kan bli svaert varme og forarsake
brannskader. Dersom barn eller sarbare mennesker er til stede, ma du

vare ekstra forsiktig.

- Bruk alltid handtaket nar du flytter ovnen (hvis tilgjengelig), eller hold
eventuelt pa sidene. (Sgrg for at apparatet er slatt av.) Hold brennbare
materialer, som mgbler, puter, sengetgy, papir, kleer og gardiner, minst
1 m fra ovnen.

- Terassevarmeren ma plasseres pa en hgyde pa minst 0,5m fra
varmeelementet i taket, minst 0,5m fra vegger pa begge sider, og den

ma vaere minst 1,8m fra gulvet.

- Advarsel: For a unnga overoppheting skal ovnen ikke tildekkes.

18



- Dette apparatet ma plasseres trygt pa en horisontal og plan overflate.

- Dette apparatet kan brukes av barn over atte (8) ar og personer med
reduserte fysiske-, sensoriske- eller mentale evner eller mangel pa
erfaring og kunnskap hvis de er under tilsyn eller har mottatt anvisning
om bruk av apparatet pa en sikker mate og forstar farene dette

innebzerer.

- Barn ma ikke leke med apparatet. Rengjgring og brukervedlikehold ma
ikke utfgres av barn uten tilsyn.

- Ikke bruk produktet hvis det har synlige tegn pa skader.

- Ikke forsgk a reparere eller justere noen elektriske eller mekaniske deler
pa dette apparatet. Apparatet inneholder ingen deler som brukeren selv
kan reparere. Bare en kvalifisert elektriker kan utfgre service eller

reparasjon.

- Hvis strgmledningen er skadet, ma den skiftes av produsenten, av
produsentens servicerepresentant eller av en tilsvarende kvalifisert
person for a unnga fare.

- Ikke ta pa elementet med bare hendene. Hvis det blir bergrt, ma du
fjerne fingermerker med en myk klut og sprit, ellers vil merkene brenne
seginnielementet og fare til at ovnen svikter fgr tiden.

- Du ma ikke bytte eller forsgke a bytte element.

-Dette produktet er egnet for utendars bruk.

19



- Ikke bruk apparatet i direkte sollys, nzer varmekilder, fuktige miljger
eller pa steder i nerheten av vann eller andre vaesker som bad, dusj eller
svgmmebasseng.

- Dette produktet ma ikke sta utendgrs eksponert for vaer og vind i lange
perioder.

- Ikke bruk apparatet med vate hender, og ikke sgl vann eller andre
vaesker pa apparatet, nettkabelen eller stikkontakten.

- Ikke legg strgmkabelen under tepper. Ikke dekk til strgmkabelen med
tepper, lgper eller lignende gulvbelegg. Legg strgmkabelen pa et sted
der folk ikke gar slik at ingen kan snuble i den.

- Ikke vikle stremledningen rundt apparatet.

- Ikke sett inn eller la fremmedlegemer komme inn i ventiler eller
apninger pa ovnen, da dette kan fare til elektrisk stgt, brann eller skade
pa varmeelementene.

- For a unnga brann ma du ikke blokkere luftventilene.

- Ikke bruk apparatet i omrader der bensin, maling eller andre brennbare
stoffer brukes eller oppbevares.

- Apparatet ma monteres slik at stgpselet er lett tilgjengelig. Unnga bruk
av skjgteledning, da den kan overopphetes og utgjgre en potensiell
brannfare.

- Pass alltid pa at ovnen er koblet til en egnet stikkontakt som er testet
for utendars bruk.

- Nar du skal koble fra ovnen, slar du kontrollene AV, sa tar du stgpselet

ut av stikkontakten. Du ma ikke ta apparatet ut av stikkontakten ved a
dra i stremkabelen.

20



- Trekk stgpslet ut av stikkontakten og kontroller at apparatet er helt
kaldt fgr du flytter, rengjar eller lagrer det.

- Ovnen er ment for bruk i hjemmet, og den skal ikke brukes til
kommersielt formal. Annen bruk som ikke anbefales av produsenten,

kan fegre til brann, elektrisk stat eller personskade.

- Du bgr ikke feste noe pa ovnen.

- Advarsel: Ovnen er ikke utstyrt med en enhet for a kontrollere
romtemperaturen. Ikke bruk ovnen i sma rom der det er personer som
ikke eristand til a forlate rommet pa egen hand, med mindre de er
under konstant tilsyn.

- FORSIKTIG: Da farlige situasjoner kan oppsta pa grunn av utilsiktet
tilbakestilling av den termiske sperreanordingen, ma apparatet ikke

motta strgm gjennom en ekstern bryterenhet, for eksempel et tidsur,

og det ma ikke kobles til en krets som regelmessig slar av og pa av
stremmen.

- Se etter skade pa ytterveggene fgr du monterer apparatet.
- Se etter kommunikasjonsledninger, elektriske ledninger og rgrledninger

i ytterveggene. Skulle det vaere slike ledninger i nerheten, ma du finne
en annen plassering for a montere apparatet.

21



PRODUKTOVERSIKT

Veggmonteringsbrakett
Kontrollpanelet
Varmelampe (inni)
Universal brakett

Strgmbryter
Varmeovngitter
Strgmledning
Fjernkontraoll

aomMO >
TTmow

22



MONTERING

For at varmeapparatet skal gi best resultat ma du s@rge for at
installasjon utferes av en kvalifisert elektriker i henhold til fglgende
instruksjoner og gjeldende regelverk. Nar du bruker varmeapparatet ma
du folge alle instruksjonene ngye, og du ma ta vare pa denne
bruksanvisningen for fremtidig bruk.

® | gsne de to M6*10-skruene med en «L»-sekskantngkkel for a endre
vinkelen for oppvarming. Stram deretter.

M6X10-skrue

® Nar du fester varmeapparatet til en vegg, ma du pase at hengslene er
pa undersiden slik at lokket kommer ned i apen stilling.

® Minstekrav for avstander:
j) 500 mm fra sidevegger
k) 500mm fra taket
) Installasjonshgyde over 1,8m

Tak

vegg

180cm

Gulv

23



® \armeapparatet ma festes til en vegg med den medfglgende
braketten for a gi tilstrekkelig ventilasjon.

® Aldri fest eller plasser varmeapparatet naer brannfarlige eller
brennbare materialer.

® Varmeapparatet ma som regel plasseres i trygg avstand (klaring) pa
minst 2,0 m fra brennbare materialer og glassvegger. Hvis det
monteres i verksteder eller garasjer der brannfarlige eller brennbare
malinger brukes, ma varmeovner monteres i en avstand pa minst 4,0
m fra farekilden.

® Hvis varmeapparater plasseres i omrader der det brukes spraymaling
til noe formal, ma de ikke brukes mens det males.

® Bruk aldri varmeapparatet i spesielt stgvete eller eksplosive omrader.

® Det erviktig a sikre at strgmtilferselen er av tilstrekkelig kapasitet for
den elektriske belastningen som kreves av varmeapparatet.

® \armeapparatet ma vare jordet.

VEGGMONTERING

® Tilbehgr

|

Ref Navn Antall

1 | Eksplosiv bolt M6*50 4
2 | M6-ngkkel 1
3 | «L»-sekskantngkkel 2
4 | Fjernkontroll 1

24



Trinn 1:Sett 4 eksplosive bolter M6*50Q) inn i veggen.

Vegg ®8mm

gomm.

Trinn 2: Ta muttere, fjeerskiver og skiver av de fire eksplosive boltene. Ta
vare pa dem for neste trinn.

W

Trinn 3:Monter varmeapparatet pa veggen, sett pa fjerlaseskiver, skiver
og muttere, og stram med skiftengkkel.

Vegg

-4"!”

25



DRIFT

Produktet ma stgttes av taket med minst 10 cm.
Avstanden fra veggen ma vaere minst 10 cm.

Hold langt vekke fra brennbare og eksplosive elementer.
Ikke dekk til varmeapparatet med noe som helst.
Kontroller at stralingsavstanden er minst 50 cm.

Barn skal ikke bruke uten tilsyn.

Ikke bergr oppvarmingssonen og det ytre skallet;

minst 10 cm

Skal ikke tildekkes!

26



___.a-"‘
MONTERE PA ET R@R
TILBEH R
Ref. Navn Antall

1 M6*12-skruer 4
2 Universal brakett 1
3 M6-muttere 4
4 Sklisikker matte 1
5 M6*50-skruer 2
6 M8%*25 -festeskruer 1

Trinn 1: Fest den universale braketten til varmeapparatet som vist
nedenfor

M6*12-skruer

1
Universal brakett
'Y
2 e
: 1|
Gl i 1
| I :
] i
I

Mé6-muttere
3

¥y
B

Varmea
pparat

27



Trinn 2: Fest den universale braketten til rgret som vist nedenfor.
Sklisikker matte

Wi gf uua alpujw

6
M8*25 -festeskruer
M6*50-skruer

DRIFT

ADVARSEL:Varmeapparatet skal vare installeret korrekt inden brug.
Seet varmeapparatet i en jordet 220-240V~ 50Hz stikkontakt.

® Trykk strembryteren pa varmeapparatet etter at st@pselet har blitt
koblet til.

28



[ON] -posisjonen er for ventemodus

[OFF] -posisjonen er for a sla av varmeapparatet.

Kontrollpanelet:

Driftsmodus

Mottaker
Klar modus

Fjernkontroll:

@

® Nar bryteren er satt til [ON (Pa)] , trykker du fjernkontrollen for &

sette terrassevarmeren til 2000 W effekt. Trykk fjernkontrollen igjen
for a sette terrassevarmeren i ventemodus.

® Nar bryteren er satt til [ON (Pa)1 | trykker du @ pa panelet for &

sette terrassevarmeren til 2000 W effekt. Trykk igjen for a sette
terrassevarmeren i ventemodus.

® Selv om terrassevarmeren er vanntett, ma du ikke bruke den nar det
regner eller i vate forhold.

® |kke ha stremkabelen koblet til stramforsyningen nar
terrassevarmeren ikke er i bruk.

Stell og vedlikehold

® [Koble fra strgmforsyningen, og rengjgr utsiden av terrassevarmeren
med en fuktig klut. Ikke bruk etsende rengjgringsmidler eller
lgsemidler, og ikke dypp den i vann.

® \/edlikehold eller reparasjoner inkludert bytte av halogenrgr skal kun
utfgres av en kvalifisert elektriker eller av et anbefalt servicesenter.

29



OPPBEVARING

Hvis terassevarmeren ikke skal brukes pa en god stund, bar du
oppbevare den pa et kjglig og tgrt sted nar den ikke er i bruk. For a hindre
at stgv og skitt samler seg bgr du bruke originalemballasjen til 2 pakke
ned varmeapparatet.

FEILS@OKING

Hvis terassevarmeren ikke vil fungere, bar du kantrollere fglgende far

ringer til service:

® Kontroller at strgmkabelen er koblet til en stikkontakt; hvis ikke sa
ma du kable den til.

® Kontroller at det kammer strgm til hovedsikringen.

® Kontroller at strgmbryteren er slatt pa. Hvis ikke ma du velge en
innstilling.

PRODUKTSPESIFIKASJONER

® Modell: POPH20WR

® Merkespenning: 220-240V~ 50Hz
® Strgmforbruk: 2000W maks

® |solasjon Klasse |

b

—
Dette symbolet pa produktet elleri anvisningene betyr at det elektriske
og elektroniske utstyret ma leveres atskilt fra husholdningsavfall nar det
ikke lenger skal brukes. Det finnes egne innsamlingssystemer for
resirkulering i EU. Du far nermere informasjon ved a kontakte lokale
myndigheter eller forhandleren du kjgpte produktet hos.

30



Importert og utelukkende markedsfgrt av:
Power International AS,
Postboks 523, N-1471 Lgrenskog, Norge

Power Norge:
https://www.power.no/kundeservice/
T:21 004000

Expert Danmark:
https://www.expert.dk/kundeservice/
T:707017 07

Power Danmark:
https://www.power.dk/kundeservice/
T:70338080

Punkt 1 Danmark:
https://www.punktl.dk/kundeservice/
T:707017 07

Expert Finland:
https://www.expert.fi/tuki/asiakaspalvelu/
T:020 7100 670

Power Finland:
https://www.power.fi/tuki/asiakaspalvelu/
T: 0305 0305

Power Sverige:
https://www.power.se/kundservice/
T:08 517 66 000

31



Turvavaroitukset

Toimi aina alla lueteltujen turvallisuusvarotoimien mukaisesti taataksesi
turvallisuuden ja pienentadksesi vamman tai sdhkéiskun vaaraa.

- Lue tamd kdyttdopas huolellisesti maksimoidaksesi laitteen
toimintakyvyn ja sdilyta opas tulevaa tarvetta varten.

- Varmista aina, ettd virtaldhteen jannite vastaa tdmadn laitteen
arvokilpeen merkittyd jannitettd.

- Ald koskaan jata laitetta valvomatta kayton aikana. Irrota laite
pistorasiasta, kun laitetta ei kdytetd.

- Lammitin kuumenee kdyton aikana. Valta palovammat varmistamalla,
ettei paljas iho joudu kosketuksiin kuumien pintojen kanssa.

- Vaara: Jotkin tamdn tuotteet osat voivat kuumentua voimakkaasti ja
aiheuttaa palovammoja. Erityisesti lasten ja riskialttiiden henkildiden
Idsnd ollessa on oltava erityisen tarkkaavainen.

- Siirrd lammitinta aina kahvasta nostamalla (jos laitteessa on sellainen)
tai pitele laitetta sen sivuilta, jos siind ei ole kahvaa (varmista, ettd laite
on kytketty pois paaltd). Pida helposti syttyvat materiaalit, kuten
huonekalut, tyynyt, vuodevaatteet, paperit, vaatteet ja verhot
vdhintddn 1 metrin etdisyydelld lammittimesta.

- Lammitin tdytyy sijoittaa minimikorkeuteen 0,5m vdlikatosta, katosta,
0,5m:n minimietdisyydelle molemmista sivuseinista ja lammittimen
padn taytyy olla 1,8m:n minimikorkeudella lattiasta.

- Varoitus: Ala peité laitetta ylikuumentumisen valttamiseksi.

- Tdma laite tdytyy sijoittaa tukevasti vaakasuoralle ja tasaiselle
pinnalle.

32



- Tatd laitetta saavat kdyttda yli 8-vuotiaat lapset ja sellaiset henkilot,
joiden fyysiset tai henkiset kyvyt tai aistit ovat rajoittuneet taijoilla ei
ole tarvittavaa kokemusta ja tietoa, jos heidan turvallisuudestaan
vastuussa oleva henkild valvoo tai opastaa heita laitteen turvalliseen
kayttoon ja selittda siihen kuuluvat vaarat.

- Lapset eivdt saa leikkid laitteella. Lapset eivdt saa suorittaa
puhdistustoimia tai kdyttdjdn kunnossapitotoéita ilman valvontaa.

- Ald kayta laitetta, jos siind on nédkyvid vaurioita.

- Ald yritd korjata tai saatda taman laitteen mekaanisia tai sdhkoisia
toimintoja. Laitteessa ei ole mitddn kdyttdjdn huollettavia osia. Vain
pdteva sdhkoteknikko saa huoltaa tai korjata laitteen.

- Vaarojen valttamiseksi vahingoittuneen virtajohdon saa vaihtaa uuteen
vain valmistaja, valmistajan valtuuttama huoltoedustaja tai muu
vastaavalla tavalla pateva henkild.

- Ald kasittele elementtejd paljain kasin. Jos kosket niihin vahingossa,
poista sormenjaljet denaturoituun spriihin tai alkoholiin kostutetulla
pehmeadlla pyyhkeellda. Muutoin sormenjdljet palavat kiinni elementtiin
aiheuttaen laitteeseen ennenaikaisia vaurioita.

- Ald yritd korjata tai vaihtaa tdman tuotteen elementtia.

- Tama tuote soveltuu ulkokdyttéon.

- Al kayta laitetta suorassa auringonvalossa, lammonlahteiden ldhelld,
kosteissa olosuhteissa tai vettd tai muita nesteitd sisdltavissa

paikaissa, kuten kylpyhuoneissa tai suihkujen tai uima-altaiden Iahelld.

- Tatd tuotetta ei saa jattad pitkaksi ajaksi ulos luonnonvoimien
armaille.

33



- Ald kayta tuotetta marin kdsin dlaka kaada laitteeseen tai sen
virtajohdolle tai pistokkeelle vettd tai muita nesteita.

- Al aseta virtajohtoa maton alle. Alé peitd virtajohtoa matoilla,
kaytdvamatoilla tai vastaavilla peitteilld. Huolehdi, ettd virtajohto ei ole
kavelyreiteilld tai paikoissa, joissa siihen voi kompastua.

- Al& kierrd virtajohtoa laitteen ymprille.

- Ald tyonna tai anna vieraiden esineiden joutua laitteen ilmanvaihto- tai
muihin aukkoihin, silld tdmd saattaa johtaa sahkoiskuun, tulipaloon tai
laitteeseen kohdistuviin vaurioihin.

- Esta tulipalot varmistamalla, ettd ilmastointiaukot eivadt tukkiudu.

- Ald kayta tats laitetta paikoissa, joissa kdytetaadn tai sailytetdan
polttoainetta, maaleja tai muita herkdsti syttyvid aineita.

- Aseta laite ja sen virtajohto aina siten, ettd siihen padsee helposti
kasiksija vdltd jatkojohtojen kayttda, silla ne saattavat ylikuumentua ja
aiheuttaa tulipalon vaaran.

- Varmista aina, ettd lammitin on kytketty sopivaan pistorasiaan, joka on
tarkastettu ulkokayttdad varten.

- Irrota lammitin verkkovirrasta sammuttamalla se ensin ja irrottamalla
sitten pistoke pistorasiasta. Ald irrota laitetta pistorasiasta
virtajohdosta vetamalla.

- Irrota laite aina verkkovirrasta ja varmista, ettd laite on tdysin
jdahtynyt ennen sen siirtdmistd, puhdistamista tai varastointia.

- Ldmmitin on tarkoitettu vain kotitalouskayttodn eika sitd saa kdyttaa
kaupallisesti sopimuksellisiin tarkoituksiin. Kaikki muu kuin valmistajan
suosittelema kdyttd saattaa johtaa tulipaloon, sahkgiskuun tai
henkilovammoihin.

34



- Lisdlaitteiden kdytt6d [ammittimessa ei suositella.

- Varoitus: Tdssd lammittimessd ei ole huoneen lampotilaa kontrolloivaa
laitetta. Ald kdytd lammitintd pienissa huoneissa, joissa olevat henkilot
eivat pysty poistumaan huoneesta omin neuvoin, ellei tilannetta
valvota jatkuvasti.

- VAARA: Jotta valtytddn ylikuumenemissuojan tahattoman nollauksen
aiheuttamilta vaaroilta, laitteeseen ei saa syottad virtaa ulkoisen
kytkinlaitteen, kuten ajastimen, kautta eikd laitetta saa kytked piiriin,
jonka apuohjelma kytkee sadnnéllisesti paalle ja pois paalta.

- Tarkasta ulkoseinat vaurioiden varalta ennen lammittimen
asentamista.

- Tarkasta ulkoseindt puhelin- ja sahkélinjojen seka putkien varalta.
Mikdli asennusalueen valittdmadssa ldheisyydessd sijaitsee huoltolinjoja,
dla asenna lammitintd vaan etsi laitteelle toinen paikka.

35



TUOTTEEN YLEISKATSAUS

A. Seindasennuksen tuki B. Virtakytkin

C. Ohjauspaneeli D. Lammittimen verkko
E. Lammityslamppu (sisalld) F. Virtajohto

C. Yleistuki H. Kaukosdddin

36



KAYTTO

Lammitin on rakennettu parhaista laatukomponenteista vallitsevien
saadosten mukaisestija se on sertifioitu turvallista kayttoa varten.
Saadaksesi parhaat tulokset lammittimestad varmista, ettd asennuksen
on tehnyt patevd sahkoalan ammattilainen seuraavien ohjeiden
mukaisesti ja huomioi tdysin nykyiset saddékset. Lammitinta
kdyttdessdsi noudata huolellisesti kaikkia ohjeita ja sdilyta tama
ohjekirja tulevaa kdyttod varten.

® | §ysdd kaksi M6*10-ruuvia kdyttamalla "L"-kuusioavainta
muuttaaksesi parasta [dmmityskulmaa. Sen jdlkeen kirista ne.

M6X10-ruuvi

® [iinnittdessasi ldmmittimen seinddn varmista, ettd saranat ovat
alapuolella niin, etta kansi tulee alas avoimessa asennossa.

® Vaadittavat minimietdisyydet:
m) 500mm sivuseindsta
n) 500mm vélikatosta

o) Asennuskorkeus yli1,8m
Katto

Seind

180cm

\
Lattia

37



® Ldmmittimen tdytyy olla siten kiinnitettynd seinddn, ettd toimitettu
tuki sallii riittdvan tuuletuksen.

® Ala milloinkaan sijoita tai paikoita ldmmitintd Idhelle tulenarkoja tai
syttyvid materiaaleja.

® Yleensd ldmmittimet tdytyy sijoittaa turvalliselle vdhintddn 2,0 m
etaisyydelle (tyhja tila) syttyvistd materiaaleista ja lasiseinista. Jos
laite on asennettuna tyopajoissa tai autotalleissa, missd kdytetddn
tulenarkoja tai syttyvia maaleja, lammittimien taytyy olla
asennettuina vahintadn 4,0 m etdisyydelle vaaran Iahteestad.

® Jos [dmmittimet ovat laitettuina alueille, missad tapahtuu
minkadnlaista ruiskumaalausta, niitd ei tule kdyttda
ruiskutusmaalaustoimintojen aikana.

® Ala milloinkaan kayta lammitinta erityisen polyisilla ja
rdjdhdysvaarallisilla alueilla.

® On tdrkedd varmistaa, ettd sahkonsyotossa on riittdvd kapasiteetti
[ammittimen tarvitsemalle sahkdkuormalle.

® [ ammittimen on oltava maadoitettu.

SEINAASENNUS

® |isdvarusteet

O

D) T
& '

/ |

Viite | Nimi
1 Laukaistava pultti M6*50 4
2 M6-kiintoavain 1
3 "L"-kuusioavain 2
4 Kaukosaadin 1

38



Vaihe 1:Laita 4 laukaistavaa pulttia M6*50Q seinaan.

Seind /cDSmm

_ 8omm_— /

Vaihe 2: Ota mutterit, jousilukkoaluslaatat ja siled aluslaatta pois
neljasta laukaistavasta pultista. Sailytd ne seuraavaa vaihetta varten.

Seini " /'

Vaihe 3:Asenna lammitin seindlle, sen jdlkeen laita takaisin
jousilukkoaluslaatat, siledt aluslaatat ja mutterit paikoilleen, sen jdlkeen
kiristd kiintoavaimella.

39



Valmis!

KAYTTO

Tuotteen tuen katosta ei tule olla vahempdd kuin 10 cm.
Etdisyyden seindstd ei tule olla vdhempadd kuin 10 cm.

Pidd etddlld tulenaroista, rdjdhdysvaarallisista kohteista.

Al peitd lammitintd milldan esineilla.

Varmista, etta sdteilytetty etdisyys ei ole vdhempada kuin 50 cm.
Lasten on kiellettya kdyttdd laitetta ilman valvontaa.

Ei suoraa kosketusta lammitysvydhykkeen ja sen ulkokuoren valillg;

vahintdan 10cm

Vihint3da
n10cm

Ala peital

40



ASENTAMINEN PUTKEEN

Viite | Nimi Maara
1 M6*12-ruuvit 4
2 Yleistuki 1
3 M6-mutterit 4
4 Liukumaton matto 1
5 M6*50-ruuvit 2
6 M8*25 kiinnitysruuvi 1

Vaihe 1: Kiinnitd yleistuki ldmmittimeen kuten alla esitetddn

M6*12-ruuvit

weist:.(i\g? ?E
L

M6-mutterit
3

Limmitin

41



Vaihe 2: Kiinnita yleistuki putkeen kuten alla esitetdan.

Liukumaton matto

WL Qg UIn)| UELIWBYEA

M6*50-ruuvit

Valmis!

KAYTTO
A. VAROITUS:Lammitin taytyy olla oikein asennettuna ennen kuin sitd

kaytetdan. Liita lammitin maadoitettuun 220-240V~ 50Hz
virtapistokkeeseen.

® Paina lammittimen virtakytkintd, kun pistoke on liitetty.

42



[ON] -asento tarkoittaa valmiustilaa

[OFF] -asento tarkoittaa lammittimen sammuttamista.

Ohjauspaneeli:

Toimintatila
Paille/poi

Vastaanotin

Valmis-tila

Kaukosaadin:

,‘@

® Kunkytkinon [ON (P&alle)] -asennossa, paina kaukosdadinta.

Lammitin toimii 2 000 W:n teholla. Paina kaukosaddinta uudelleen,
[dmmitin siirtyy valmiustilaan.

® Kunkytkinon [ON (Paalle)] -asennossa, paina ohjauspaneelin

@-painiketta. Ldammitin toimii 2 000 W:n teholla. Paina sita

uudelleen, lIdmmitin siirtyy valmiustilaan.

® \Vaikka terassildmmitin on vesitiivis, dld kdytd sitd sateella tai
madrissd olosuhteissa.

® Ald milloinkaan liita virtajohtoa virtaldhteeseen, kun terassilammitin
ei ole kaytdssa.

HOITO JA KUNNQSSAPITO
® Puhdista terassildmmittimen ulkopuoli kostealla liinalla, kun

lammitin  on kytketty irti virtaldhteesta. Ald koskaan kayta
syOvyttavid tai liuotinpuhdistusaineita tai upota laitetta veteen.

43




® [Kaikki huolto- ja korjaustydt, myos halogeeniputken vaihtaminen,
tulisi teettdd pdtevdllda sdhkoasentajalla tai suosittelemmassamme
huoltokeskuksessa.

SAILYTYS

Jos [dmmitintd ei ole tarkoitus kdyttda pitkddn aikaan, varastai se
viileddn, kuivaan paikkaan, kun sitd ei kdytetd. Estdaksesi pélyn ja lian
kertymisen, pakkaa laite uudelleen alkuperdiseen pakkaukseensa.

VIANMAARITYS

Jos lammitin ei toimi, tarkista seuraavat asiat ennen kuin haet
karjausapua:

® Tarkista onko virtajohto liitetty pistorasiaan. Jos ei, liitd se.
® Tarkista, ettd sahkonsyottd pddasulakkeeseen toimii.
® \/armista, ettd virtakytkimet on kytketty pdalle. Jos ei, valitse asetus.

TUOTTEEN TEKNISET TIEDOT

® Malli: POPH20WR

® Nimellisjdnnite: 220-240V~ 50Hz
® \Virrankulutus: 2000W maks

® FEristys luokka |

X

Tdamd tuotteeseen tai ohjeisiin merkitty symboli tarkoittaa, ettd
sahkolaitteet ja elektroniikka on hdvitettdvd kdyttoikdnsd pddttyessd
erilladn kotitalousjdtteestd.EU:ssa on kierratystd varten erilliset
keruujdrjestelmdt.jos haluat lisatietoja, ota yhteys paikallisiin
viranomaisiin tai tuotteen myyneeseen liikkeeseen.

44



Maahantuonti ja markkinointi yksinoikeudella:
Power International AS,
PO Box 523, N-1471 Lgrenskog, Norway

Power Norjassa:
https://www.power.no/kundeservice/

P:21 004000

Expert Tanskassa:
https://www.expert.dk/kundeservice/

p:707017 07

Power Tanskassa:
https://www.power.dk/kundeservice/

p:7033 8080

Punkt 1 Tanskassa:
https://www.punktl.dk/kundeservice/

p:707017 07

Expert Suomessa:
https://www.expert.fi/tuki/asiakaspalvelu/

P: 0207100670

Power Suomessa:
https://www.power.fi/tuki/asiakaspalvelu/

P: 0305 0305

Power Sverige:
https://www.power.se/kundservice/

P: 08 517 66 000

45




Sikkerhedsadvarsler

For at nedsatte risikoen for personskade og elektrisk stgd, skal du faglge
alle nedenstaende sikkerhedsregler.

- Las brugervejledningen ngje igennem for at kunne bruge apparatet
optimalt. Gem brugervejledningen til senere brug.

- Sgrg altid for, at spandingen i stramforsyningen passer med vardierne

pa markepladen.

- Efterlad aldrig det tendte apparat uden opsyn. Apparatet skal altid
afbrydes fra stikkontakten, nar det ikke er i brug.

- Dette varmeapparat bliver varmt. For at undga forbraendinger, ma du
ikke bergre apparatet med ubeskyttet hud.

- Forsigtig: Nogle dele af dette produkt kan blive meget varme og give
brandsar. Ver sarlig opmarksom, hvis bgrn og sarbare personer er til
stede.

- Brug altid handtaget, nar du skal flytte varmeapparatet (hvis et sadant
forefindes), eller tag fat i siderne, hvis der ikke er noget handtag (sarg
for, at apparatet er slukket). Hold braendbare materialer, som f.eks.
mabler, puder, sengetgj, aviser, tgj og gardiner mindst 1 m vaek fra
varmeapparatet.

- Terrassevarmeren skal stilles mindst 0,5m fra lofter, tag samt mindst

0,5m fra vaegge til begge sider, og den skal sta mindst 1,8m fra gulvet.

- Advarsel: For at undga overophedning, ma varmeren ikke tildekkes.

46



- Dette apparat skal sta pa en vandret og plan overflade.

- Dette apparat ma ikke bruges af bgrn under 8 ar eller af personer med
nedsatte fysiske, falelsesmassige eller mentale evner, eller med
mangel pa erfaring eller viden, hvis de ikke er under opsyn eller er blevet
instrueret i hvordan dette apparat bruges sikkert og forstar risikoen ved
at bruge det.

- Bgrn ma ikke lege med dette apparat. Renggring og vedligeholdelse ma

ikke udfgres af bgrn uden opsyn.

- Apparatet ma ikke bruges, hvis der er nogen synlige tegn pa skader.

- Du ma ikke selv forsgge at reparere eller justere nogen elektriske eller
mekaniske dele pa dette apparat. Apparatet indeholder ikke nogen dele,
som brugeren selv kan reparere. Kun en autoriseret elektriker ma

udfegre vedligeholdelsesarbejde og reparationer.
- Hvis ledningen beskadiges, skal den skiftes af producenten, dennes
servicereprasentant eller en tilsvarende kvalificeret fagmand, sa

enhver fare undgas.

- Du ma ikke rgre ved nogen af delene med bare hander. Hvis apparatet

bergres med bare hander, skal fingermarkerne fjernes med en blgd
klud og denatureret spiritus eller alkohol, ellers braender de sig fast i
delene, som kan fgre til funktionsfejl.

- Du ma ikke skifte eller prgve at skifte nogen af delene i dette produkt.

- Dette produkt er velegnet til udendgrs brug.

47



- Brug ikke apparatet i direkte solskin, naer varmekilder, i fugtige
omegivelser eller pa steder i nerheden af vand eller andre vasker, som

f.eks. i badevarelser, brusekabiner eller swimming pools.

-Dette produkt ma ikke efterlades udendgrs i lzngere tid.

- Apparatet og dets ledning og stik ma ikke betjenes med vade hander,

og der ma ikke komme vand eller andre vaesker pa det.

- Undga at fgre ledningen under et gulvtappe. Undga at tildekke
strgmledningen med tapper, Igbere eller lignende gulvbelzgninger. Far
ledningen vk fra gangtrafik, hvor ingen kan falde over det.

- Undga at vikle ledningen rundt om apparatet.

- Undga at genstande kommer ind i nogen af ventilatorabningerne pa
varmeapparatet, da dette kan fgre til elektrisk stgd, brand eller skader
pa apparatet.

- For at undga brand, ma ventilationsabningerne ikke tildekkes.

- Apparatet ma ikke bruges pa steder, hvor benzin, maling eller
brendbare materialer bruges eller opbevares.

- Anbring altid apparatet, sa stikkontakten er let tilgeengelig og undga at
bruge en forleengerledning, da en sadan kan overophede eller vil udggre

en brandfare.

- Sgrg altid for, at varmeapparatet er tilsluttet en egnet stikkontakt,
som er godkendt til udendars brug.

48



- For at afbryde varmeapparatet skal du stille betjeningsknappen pa
SLUK, hvorefter du kan traekke stikket ud af stikkontakten. Apparatet

ma ikke afbrydes ved at traekke i ledningen.

- Trek altid stikket ud af stikkontakten og sgrg for, at apparatet er helt
koldt, inden det flyttes, renggres eller gemmes vak.

- Dette varmeapparat er kun beregnet til husholdningsbrug og ma ikke
bruges til erhvervsmaessige formal. Enhver anden brug, der ikke
anbefales af fabrikanten, kan fgre til brand, elektrisk stad eller skader
pa personer.

- Brug af tilbehgr pa varmeapparatet anbefales ikke.

- Advarsel: Dette varmeapparat er ikke udstyret til at styre temperaturen
i et lokale. Undga at bruge varmeapparatet i sma vaerelser med
personer, der ikke selv er i stand til at forlade veerelset, medmindre det
er under konstant opsyn.

- FORSIGTIC: For at undga fare som fglge af utilsigtet nulstilling af den
termiske afbryder, ma dette apparat ikke stremforsynes via en ekstern
afbryder, sasom en timer, eller sluttes til et kredslgb, der jevnligt
tendes og slukkes af en afbryder.

- Se udvendige vagge efter for skader, fgr du monterer varmeapparatet.

- Kontrollér om der er kommunikationskabler, elkabler eller rgrledninger
pa ydersiden af monteringsvaeggen. Hvis sadanne kabler er tilstede, ma
varmeren ikke monteres i nerheden af disse. Find et andet sted at
montere dette produkt.

49



PRODUKTOVERSIGT

A. Vzgbeslag B. Tand/sluk-knap
C. Kontrolpanelet D. Varmegitter

E. Varmelampe (inden i) F. Ledning

C. H.

Universalbeslag Fjernbetjening

50



BETJENING

For de bedste resultater skal du sikre dig, at varmeapparatet monteres
af en kvalificeret elektriker iht. falgende instruktioner og med fuld
overholdelse af gzldende regler. Nar du bruger varmeapparatet, skal du
fglge alle instruktioner omhyggeligt og gemme denne
instruktionshandbog til eventuel senere brug.

® | gsndetoM6*10 skruer vha. den "L"-formede unbrakonggle for at
indstille apparatet i den bedste vinkel. Spaend dem herefter igen.

M6X10 skrue

® Nar du monterer varmeapparatet pa en vaeg, skal du sikre dig, at
hangslerne sidder pa undersiden, sa laget kan vippe ned i aben
position.
® Mindsteafstande:
g) 500mm fraveegge
h) 500mm fra loft
i) Installationshgjde over 1,8 m
Loft

Vag

180em

Gulv

51



® Varmeapparatet skal fastggres pa en vaeg vha. det medfalgende
beslag, sa du opnar tilstrekkelig ventilation.

® Du ma aldrig montere eller anbringe varmeapparatet nar brendbare
materialer.

® (Cenerelt skal varmeapparater placeres i en sikker afstand (fri plads)
pa mindst 2,0 m fra breendbare materialer og glasvaegge. Hvis
apparatet monteres pa et vaerksted eller i en garage, hvor der
anvendes braendbar maling, skal varmeapparatet sidde mindst 4,0 m
fra farekilden.

® Hvis varmeapparatet placeres pa steder, hvor der sprayes med nogen
form for maling, ber du ikke bruge apparatet, mens der males.

® Brug aldrig varmeapparatet i sveert stgvede og eksplosive omrader.

® Det ervigtigt at sikre sig, at stremforsyningen har tilstraekkelig
kapacitet til at baere varmeapparatets belastning.

® \/armeapparatet skal vere jordforbundet.

MONTERING PA EN VAG

Tilbehgr

Ref.  Navn Antal
1 Ekspansionsbaolt M6*50 4
2 M6 skruenggle 1
3 "L"-formet unbrakonggle 2
4 Fjernbetjening 1

52



Trin 1:Sat 4 ekspansionsbolte M6*50Q i vaeggen.

_ gomm. %\

Trin 2: Skru matrikkerne, fjederskiverne og skiverne af de 4
ekspansionsbolte. Gem dem til det naeste trin.

Trin 3:Monter varmeapparatet pa vagegen, st fjederskiver, skiver og
matrikker pa igen og spand til med skruengglen.

53



Udfart!

BETJENING

Afstand fra loftet skal vaere mindst 10 cm.

Afstand fra veeggen skal vaere mindst 10 cm.

Holde stor afstand fra brendbare eller eksplosive genstande.
Du ma ikke tildekke varmeapparatet.

Sgrg for, at der er mindst 50 cm til bestralede genstande.
Born ma ikke bruge apparatet uden opsyn.

Du ma ikke bergre den varme zone eller kabinettet direkte.

mindst 10 cm

mindst
10cm

Ma ikke tildekkkes!

54



MONTER PA EN SKINNE

TILBEHOR

Ref Navn Anta
) |
1 | M6*12 skruer 4
2 | Universalbeslag 1
3 | M6 matrikker 4
4 | Skridsikkert underlag 1
5 | M6*50 skruer 2
6 | M8%*25 laseskrue 1

Trin 1: Monter universalbeslaget til varmeapparatet som vist nedenfor

M6*12 skruer
!
'Y

Universalbeslag

I

2 i
I

o |

|

I

M6 metrikker
3

Varmea
pparat

55



Trin 2: Monter universalbeslaget til skinnen som vist nedenfor.
Skridsiklert underlag

WL g pua a1puiw

M6*50 skruer

Udfart!

BETJENING

ADVARSEL:Varmeapparatet skal veaere installeret korrekt inden brug.
St varmeapparateti en jordet 220-240V~ 50Hz stikkontakt.

® Tryk pa tend/sluk-knappen pa varmeapparatet, nar stikket er sat i
stikkontakten.

56



[ON] -positionen betyder standbytilstand

[OFF] -positionen betyder, at varmeapparatet er slukket.

Kontrolpanelet:

Driftstilstand

Tand/Sluk:

Modtager
Klar-tilstand

Fjernbetjening:

()

® Nar kontakten er i positionen [ON (Teend)] , skal du trykke pa

fjernbetjeningen for at indstille varmeapparatet til 2000W. Tryk igen
pa fjernbetjeningen for at seette varmeapparatet i standby-tilstand.

® Nar kontakten er i positionen [ON (Teend)] | skal du trykke pa @

pa kontrolpanelet for at indstille varmeapparatet til 2000W. Tryk
igen for at seette varmeapparatet i standby-tilstand.

® Selvom terrassevarmeren er vandtaet, ma du ikke bruge den i regnvejr
eller under vade forhold.

® Tilslut aldrig netledningen til strgmforsyningen, nar terrassevarmeren
ikke eribrug.

PLEJE OG VEDLIGEHOLDELSE

® Nar stikket er trukket ud af stikkontakten, kan du t@rre ydersiden af
terrassevarmeren af med en fugtig klud. Varmeren ma aldrig kommes
i vand eller renggres med xtsende renggringsmidler eller
oplgsningsmidler.

57




® Vedligeholdelsesarbejde og reparation ma kun udfgres af en
kvalificeret elektriker eller et anbefalet servicecenter. Dette gzlder
ogsa udskiftning af halogen-rgret.

OPBEVARING

Hvis terrassevarmeren ikke skal bruges i en lngere periode, bgr den
opbevares et kgligt og tert sted. For at undga ophaobning af stgv og
snavs, skal du pakke enheden vak i dens originale emballage.

FEJLFINDING

Hvis terrassevarmeren ikke virker, skal du kontrollere fglgende, inden du

sgger hjzlp:

® Kontrollér om strgmledningen er sat i en stikkontakt.

® Kontrollér om HPFI-relzet er slaet fra.

® Kontrollér at der er tendt for strammen. Hvis dette ikke er tilfeldet,
skal du vaelge indstilling.

PRODUKTSPECIFIKATIONER

® Model: POPH20WR

® Nominel spending: 220-240 V~ 50Hz
® Strgmforbrug: 2000W maks

® |solering Klasse |

b

Dette symbol pa produktet eller i vejledningen betyder, at det udtjente
elektriske eller elektroniske udstyr ikke ma bortskaffes sammen med
husholdningsaffald.| EU-lande findes der separate
genbrugsordninger.Kontakt de lokale myndigheder eller forhandleren for
yderligere oplysninger.

58



Importeret og markedsfares udelukkende af:
Power International AS,
PO Box 523, N-1471 Larenskog, Norway

Power Norge:
https://www.power.no/kundeservice/
T:21 004000

Expert Danmark:
https://www.expert.dk/kundeservice/
T:707017 07

Power Danmark:
https://www.power.dk/kundeservice/
T:70338080

Punkt 1 Danmark:
https://www.punktl.dk/kundeservice/
T.:707017 07

Expert Finland:
https://www.expert.fi/tuki/asiakaspalvelu/
T: 0207100670

Power Finland:
https://www.power.fi/tuki/asiakaspalvelu/
T: 0305 0305

Power Sverige:
https://www.power.se/kundservice/
T:08 517 66 000

59




Sdkerhetsvarningar

Folj alla sakerhetsforeskrifter nedan av sdkerhetsskal och for att minska
risken for skador och elektriska stotar.

- Lds bruksanvisningen noga for att maximera produktens prestanda och
spara for framtida behov.

- Kontrollera att spanningen som anges pa produktens typskylt
dverensstdmmer med din natspdnning.

- Lamna aldrig apparaten utan uppsikt nar den ar i drift. Dra alltid ut
kontakten ndr produkten inte anvdnds.

- Detta varmeelement ar varmt nar det anvands. For att undvika
brannskador, ror inte vid enheten med bar hud.

- Forsiktighet! Nagra delar pa produkten kan bli vdldigt varma och orsaka
brannskador. Var speciellt uppmdrksam ndr barn och kdnsliga personer
finns i narheten.

- Anvénd alltid handtaget nar elementet ska flyttas (i forekommande
fall) eller hall pa sidorna om det saknas (kontrollera att enheten ar
avstangd). Ha lattantandliga material som mabler kuddar, sangklader,
papper, klader och gardiner minst 1 m fran elementet.

- Vdrmaren maste placeras pa en hgjd av minst 0,5m fran taket, ett
avstand pa minst 0,5m fran bada sidovdggarna och varmarens huvud
maste ha en hojd pa minst 1,8m fran golvet.

- Varning! For att undvika dverhettning far elementet inte tdckas over.

- Denna apparat maste vara sakert placerad pa en horisontell och plan
yta.

60



-Denna apparat far anvandas av barn fran 8 ar och uppat och personer
med nedsatt fysisk, sensorisk eller mental férmaga eller av personer
som saknar erfarenhet och kunskap om det sker under uppsyn eller om
de far anvisningar om hur man anvander apparaten pa ett sakert satt
och ar medveten om riskerna.

- Barn far inte leka med apparaten. Rengéring och underhall bér inte
utféras av barn utan tillsyn.

- Anvand inte produkten om det finns nagra synliga tecken pa skador pa
den.

- Férsok inte att reparera eller justera nagon elektrisk eller mekanisk
funktion pa enheten. Enheten innehaller inga delar som kan servas av
anvandaren. Service eller reparationer ska endast utféras av en
kvalificerad elektriker.

- Om ndtkabeln dr skadad sa maste den ersdttas av tillverkaren, dess
servicerepresentant eller av motsvarande behérig person, for att
undvika fara.

- Hantera inte elementet med bara hdnder. Om det vidrors oavsiktligt, ta
bort fingeravtrycken med en mjuk trasa och metylerad sprit eller
metylalkohol for att inte mdrkena ska brannas in i elementet och
orsaka prematura fel pa elementet.

- Ersatt inte eller férsok inte att ersatta elementet i produkten.

- Produkten lampar sig for utomhusanvandning.

- Anvand inte produkten i direkt solljus, i ndrheten av varmekallor,
fuktiga miljoer eller pa platser i narheten av vatten eller andra vatskor
som badrum, duschar eller pooler.

61



- Denna produkt far inte Iamnas utomhus exponerad for vader och vind
under langre tid.

- Anvdnd inte med vata hdnder och spill inte vatten eller andra vatskor
pa produkten, ndrkabeln eller kontakten.

- Dra inte stromkabeln under heltdckningsmatta. Tdck inte dver
stromkabeln med mattor, skenor eller liknande 6vertackning. Placera
stromkabeln pa ett sadant sdtt sa att den inte ligger ddr man gar eller
dar det finns risk fér att snubbla éver den.

- Vira inte stromkabeln runt enheten.

- Stoppa inte in frammande féremal i nagon ventil eller 6ppning pa
varmeelementet, eftersom det kan orsaka elektriska stttar, brand eller
skador pa enheten.

- For att forhindra risken for brand, blockera inte ventilerna.

- Anvand inte produkten pa platser ddr bensin, malarfarg eller andra
|dttantandliga dmnen anvands eller férvaras.

- Placera alltid produkten med kontakten atkomlig, och undvik att
anvdnda férldngningssladdar eftersom de kan 6verhettas och utgdra en
potentiell brandrisk.

- Kontrollera alltid att varmeelementets kontakt ar ansluten till ett
passande uttag som har testats for utomhusanvandning.

- For att stanga av vdrmeelementet, vrid reglaget till AV, och dra

ddrefter ut kontakten ur uttaget. Dra inte ut kontakten genom att dra i
stromkabeln.

62



- Dra alltid ut enhetens kontakt och se till att enheten svalnat helt innan
den flyttas, rengors eller satts i férvaring.

- Detta varmeelement &r avsett fér hemmabruk enbart, och ska inte
anvdndas kommersiellt for uthyrning. All annan anvandning som inte
rekommenderas av tillverkaren kan leda till brand, elektriska stotar eller
personskador.

- Anvandning av tillbeh6r pa varmeelementet rekommenderas inte.

- Varning! Detta varmeelement dr inte forsett med nagon enhet som
kontrollerar temperaturen i rummet. Anvdnd inte vdarmeelementet i
sma rum med manga personer som inte kan ldmna rummet pa egen
hand, om det inte finns standig uppsikt.

- FORSIKTIGHET! For att undvika fara pa grund av oavsiktlig
aterstallning av varmevslagning, far denna produkt inte tillféras strom
genom en extern kopplingsanordning, sasom en timer eller anslutas till
en krets som regelbundet slas pa och av.

- Kontrollera om yttervdggarna har skador innan apparaten monteras.

- Kontrollera om det finns kommunikations- eller elektriska kablar och
rorledningar i yttervdggarna. Montera inte vdrmeelementet dar det
finns nagon typ av serviceledningar i direkt narhet, utan vdlj en
alternativ plats ddr enheten kan monteras.

63



PRODUKTOVERSIKT

A. Vdggmonterade fasten B. Stromknapp
C. Kontrollpanelen D. Vdrmegaller
E. Varmelampa (inuti) F. Stromkabel
C. Universalfaste H. Fjarrkontroll

64



DRIFT

Varmaren dr byggd med komponenterna av bdsta kvalitet i enlighet med
gdllande rattsliga bestammelser och sdkerhetscertifierade for
anvandning. Fdr basta resultat fran varmaren, sakerstall att
installationen utfors av en behdrig elektriker i enlighet med féljande
instruktioner och beakta gdllande forordningar fullt ut. Ndar varmaren
anvdnds, folj noggrant alla instruktioner och behall den har
bruksanvisningen f&r framtida referens.

® |[ossade tva M6*10-skruvarna med sexkantiga "L"-hylsnyckeln for
att dndra den basta vinkeln foér uppvarmning. Aterdra dem sedan.

M6X10-skruv

® Ndr vdrmaren sdtts pa en vdgg, var noga med att gangjdrnen dr pa
undersidan sa att locket gar att falla ned i 6ppet lage.

® Minimikrav pa avstand:
d) 500mm fran sidovdggen
e) 500mm fran taket

f) Monteringshajd dver 1,8m
Tak

Vigeg

Golv

65



Varmaren maste fdstas pa en vagg med det medféljande fastet sa
att ventilationen blir tillracklig.

Fast eller placera aldrig varmaren nara brandfarliga eller brannbara
material.

| allmanhet ska varmare placeras pa ett sakert avstand (fritt avstand)
pa minst 2,0 m fran brannbara material och glasvdggar. Vid
installation i verkstader eller garage ddr brandfarliga eller brannbara
fdrger anvdnds maste vdrmarna installeras pa ett avstand om minst
4,0 m fran riskkallan.

Om vdrmarna placeras i omraden ddr nagon slags sprutmalning dger
rum ska de inte anvandas ndr malning pagar.

Anvand aldrig varmaren i synnerligen dammiga och explosiva
omraden.

Det dr viktigt att sdkerstdlla att elforsdrjningen ar av tillrdcklig
kapacitet for den elektriska belastningen som vdrmaren kraver.
Vdrmaren maste jordas.

VAGGINSTALLATION

Tillbehor

A “k l‘l‘
/AR |
AW \(;Y |

Ref Namn

1 | Sprdngbult M6*50 4
2 | Mb-nyckel 1
3 | Sexkantig "L"-hylsnyckel 2
4 | Fjarrkontroll 1

66



Steg 1:S4tt in 4 sprangbultar M6*50Q) i vaggen.

Steg 2: Ta bort muttrarna, fjdderlasbrickar och enkla brickor fran de fyra
sprangbultarna. Behall dem for nasta steg.

-
b g%

Steg 3:Montera vdrmaren pa vdggen och sdtt sedan tillbaka
fjaderlasbrickorna, enkla brickorna och muttrarna och dra sedan at med
nyckeln.

h‘tl'{”

67



Klart!

INSTALLERA PAETT ROR

Produktens stéd fran taket ska inte vara mindre an 10 cm.
Produktens avstand fran vdggen ska inte vara mindre dn 10 cm.
Hall brannbara och explosiva foremal pa avstand.

Tdck inte éver varmaren med nagra foremal.

Kontrollera att den stralningsavstandet inte dr mindre dn 50 cm.
Far inte anvdndas av barn som inte har tillsyn.

Vidrdr aldrig vdrmezonen eller dess yttre skal direkt.

minst 10 cm

Tdck inte 6ver!

68



INSTALLERA PAETT ROR

TILLBEHOR
Ref. Namn Ant.
1 M6*12-skruvar 4
2 Universalfaste 1
3 M6-muttrar 4
4 Halkfri matta 1
5 M6*50-skruvar 2
6 M8*25, fastskruvar 1

Steg 1: Faster universalfastet till varmaren enligt nedan

M6*12-skruvar

1
Universalfiste ? P
A
1
I
1
1
1

Mé-muttrar
3

¥y
1

Viarmare

69



Steg 2: Fast universalfdstet pa roret enligt nedan.

Halkfri matta
4

WW g UE aIpuj

6
M8*25, fastskruvar
M6*50-skruvar

Klart!

DRIFT

VARNING:Varmaren maste installeras korrekt innan den anvands. Anslut
vdrmaren till ett jordat220-240V~ 50Hz eluttag.

® Tryck pa strombrytaren pa varmaren efter att kontakten har
anslutits.

[ON] -ldge innebar standby-lage

70



[OFF] -ldge innebéar avstangning av varmaren.

Kontrollpanelen:

WMArbetélége

© Pi/Av

Recetver

reagMlottagare
Klar-ldge

Fjarrkontroll:

Narvdrmaren drildget [ON (Pa)] , tryck pa fjarrkontrollen for att

stdlla varmaren pa 2 000 W effekt. Tryck pa fjarrkontrollen igen, sa
stalls vdrmaren pa standby-lage.

Na&r varmaren ar i ldget [ON (Pa) ], tryck pa @ kontrollpanelen for

att stdlla varmaren pa 2 000 W effekt. Tryck igen for att stdlla
vdrmaren pa standby-ldage.

Aven om terrassvarmaren ar vattentat ska den inte anvandas nar det

regnar eller i fuktiga forhallanden.
Anslut aldrig natsladden till stromférsdrjningen nar terrassvarmaren

inte anvands.

SKOTSEL OCH UNDERHALL

® Ndr den dr bortkopplad fran elndtet kan du reng6ra utsidan av

terrassvdrmaren med en fuktig trasa. Anvdnd inte fratande medel
eller I6sningsmedel eller doppa den i vatten.

Underhall eller reparationer, inklusive byte av halogenréret ska endast
utforas av behorig elektriker eller av en rekommenderad
serviceverkstad.

71




FORVARING

Om vdrmaren inte kommer att anvandas under en langre tid, forvara den
pa en sval, torr plats ndr den inte anvdnds. For att férhindra att damm
och smuts byggs upp, anvdnd originalférpackningen fér att paketera
vdrmaren.

FELSOKA

Om varmaren inte fungerar, kontrollera foljande innan du kontaktar

reparationsservice:

® [Kontrollera om strémkabeln dr ansluten till ett eluttag, om inte,
kopplain den.

® Kontrollera om elen till huvudsakringen fungerar.

® Se till att strombrytarna dr paslagna. Om inte, vdlj en installning.

Tekniska specifikationer

® Modell: POPH20WR

® Madrkspanning: 220-240V~ 50Hz
® FEnergiférbrukning: 2000W max
® [solering klass |

X

Denna symbol pa produkten eller i instruktionerna betyder att dina
elektriska och elektroniska apparater ska kdllsorteras ndr de dr
forbrukade och att de inte fa slangas i hushallssoporna. Det finns
sdrskilda insamlingssystem for atervinning inom EU. For ytterligare
information, kontakta din kommun eller din aterférsaljare dar du képte
produkten.

72



Importerat och exklusivt marknadsford av:
Power International AS,
PO Box 523, N-1471 Larenskog,Norway

Power Norge:
https://www.power.no/kundeservice/
T:21 004000

Expert Danmark:
https://www.expert.dk/kundeservice/
T:707017 07

Power Danmark:
https://www.power.dk/kundeservice/
T:7033 8080

Punkt 1 Danmark:
https://www.punktl.dk/kundeservice/
T.70701707

Expert Finland:
https://www.expert.fi/tuki/asiakaspalvelu/
T:020 7100 670

Power Finland:
https://www.power.fi/tuki/asiakaspalvelu/
T:0305 0305

Power Sverige:
https://www.power.se/kundservice/
T:08 517 66 000

73






	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42
	页 43
	页 44
	页 45
	页 46
	页 47
	页 48
	页 49
	页 50
	页 51
	页 52
	页 53
	页 54
	页 55
	页 56
	页 57
	页 58
	页 59
	页 60
	页 61
	页 62
	页 63
	页 64
	页 65
	页 66
	页 67
	页 68
	页 69
	页 70
	页 71
	页 72
	页 73
	页 74

